Year 5 Maths — Measurement - Length —
Home / School Learning, Week D

Converting Units of Length

Learning Intention:
Students will:

+ Be able to measure the perimeter of a shape just from given
measurements

When measuring perimeter remember it is the “distance around the outside of a 2D shape’.

So if I'm measuring the perimeter of a rectangle with
sides 2cm and 4cm | would add the following:

4cm

c=

Perimeter = (a) 4cm + (b) 2cm + (c) 4cm + (d) 2cm = 12cms

When measuring and converting length it is important to remember:

Tem =10 mm
Tm =100cm

1km = 1000m

Tasks: - Complete the perimeter word problems

- Complete the Metric Units Challenge Cards that relate to Length



Year 5 Maths — Number — Fractions and Decimals
Home / School Learning, Week D

Week D - Fractions and Decimals

Learning Intention:
Students will:
+ order fractions with like denominators
+ order fractions with different denominators

When ordering fractions it is important that when comparing all fractions, they MUST have the
same denominators. When fractions do not have the same denominators, first we must change
the fractions to EQUIVALENT FRACTIONS in order to compare. To do this we find a number that the
denominators have in common as a factor of:

2 4 8 _ 16

3 6 ~ 12 T 24

These fractions are all the same or EQUIVILENT. All | have done is double each number. So on the
first question on pg 1 it asks to order the following fractions:

3 2 11 5 7

4 3 12 é 12

The common number that all of the denominators is a factor of is 12. So when | write these as
equivalent fractions, remember the rule:

What | do to the bottom | must do to the top!!

Which means for fraction 3/4 | must times each by 3 as 4x3 = 12. For fraction 2/3 | times each by 4
as 3x4=12. 11/12 stays the same as it already has 12 as a denominator, as does 7/12. For 5/6 |
times each by 2 as 6x2 =12

3 _ 9 2 _ 8 5. _ 10
4(x3) 12 3(x4) 12 6(x2) 12

Now | order these from smallest to largest:

/ 2 3 S 11

12 3 4 46 12




Perimeter Word Problems

1. The school caretaker needs to price up some new guttering for the whole way round the
school building. Work out the total perimeter of the school building from this plan so that

she will know how much guttering to buy.

15m

24m

15m

8m

6m

19m

13m

2. Andy is planning a campsite for a music festival. He has a few fields for the campsite, but
needs to put fencing around the perimeter of the whole site. Work out how many metres of

fencing he will need.

57m

woe

66m

weTt

5Im

31m

71lm
54m

172m
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Perimeter Word Problems

3. Emma wants to run 2km. She is going to run five times around the perimeter of her local

park. What is the total distance she will run and will she have reached her 2km target?

(The park has a vertical and horizontal line of symmetry.)

m

m

22m

30m

30m

22m

4. Miss Taylor is creating a bullying display with the word TELL in the middle. Work out the
perimeter of the whole word so that she can work out how much luminous tape to use
round the edge of the letters to make them stand out. (All the letters are the same height
and width.)

\

] 50cm

24 [
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Perimeter Word Problems

5. Joe s a fork lift truck driver. Every day, he has to go three times around the perimeter of

the warehouse where he works. How far does he travel in one day?

86.5m

8m

37m

75m

22m

40.5m

19m

o9m

6. A Year 5 teacher wants to decorate their classroom for Diwali by putting up strings of

fairy lights around the classroom. Work out the perimeter of the classroom and how many
strings of 6m fairy lights she will need.

7 3.2m
£
65cm\,_; /65cm
& =
O ()]
i 3
=
305”1/ 30cm
E 65cm
< ¥
(Y
»
3
4m 55cm
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Aim: to order fractions

Ordering Fractions

Order these fractions from smallest to largest. You may wish to write the fractions with a common denominator.

1

E} 2 1 5 7
4 3 12 b 12
EE) 12 12 12 12
Smallest Largest

2.
1 s s =R A
2 4 3 12 12
Smallest Largest

3.
2 3 1 3 e
5 10 2 5 20
Smallest Largest

W K
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LO: Order fractions where the denominators are multiples.

Order these fractions from smallest to largest. You may wish to write the

1.

Ordering Fractions

fractions with a common denominator.

2 7 il il 5
3 12 6 3 6
12 12 12 12 12
Smallest Largest
2.
1 2 i 3 1
2 8 4 4 8
8 8 8 8 8
Smallest Largest
3.
3 s s 3 2
5 10 5 10 5
10 10 10 10 10
Smallest Largest
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Ordering Fractions

LO: Order fractions where the denominators are multiples.

Order these fractions from smallest to largest. You may wish to write the fractions with a common denominator.

_3_ 44 i 71 17
10 100 10 100 100
100 100 100 100 100
Smallest Largest
2.
% o I3 e 74
100 10 100 10 100
Smallest Largest
3.
2 21 _2_ L 12
100 100 10 10 100
Smallest Largest
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